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ECONOMICS

( Honours )
Paper : ECO-HC-1016
( Microeconomics )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x10=10
oot AP o iR e fia
(a) Define a household.
IR KT i |
{b) What is producer’s surplus?
TRAFY g8 2

(c) Mention one feature of capitalism.

@ b1 Caf¥ier Trad 0 |

(d) What do you mean by price rationing?
Price rationing Jfeice f& g@?
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(e)

(9)

()

()

20A /575

(2)

Define marginal productivity of labour.

9 1T TAMATOR FIReRT 3l |

Fill in the blank :
Al R 7RG F4
MRP; =MPP; x__« .
For a Giffen good, income effect is
Giffen good-3 S [A% 2’4
(i) positive
SCINIES
(i) negative
ERINEH
(iij) constant
&
(iv) Both (i) and (ij)
Ty (i) S (i1)
(Choose the correct option)
(= fimcor aif= Tferean )
Why is the average cost (AC) curve
U-shaped?
5% 9 (AC) (A1 U-STpfe 2 {32
Define opportunity cost.
STel aEd kel e |
( Continued )



(3)

() How does technological innovation affect
the supply curve?

wfETe wfiEE @M GF [ geiike
@7

2. Write short answers of the following
questions : 2x5=10

O] (AR 5 Teq i

fa) What is meant by property rights?
offe 7g2 ¢ @m 2

(b) If B=X-Py +Y-P,, where B represents
money income of the consumer, Py and
P, represent prices of goods X and Y
respectively, find the slope of the
equation.
MM B=X-Py+Y.B, =W, ¥© B 7
TSR W, Py OF Py T FH X UE Y
TR W, FqRICHA B Sl |

(c) State two exceptions to the law of
demand.

wifen Rfa= 761 ey forsm |

(d) Mention two government policies to
enhance competition in the market.

qERe e 3 IR <[ 7o el Ao
TrEY 741
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(4]

(e) Point out two characteristics of labour
market.

¥ IHRE 7o1 CIrET fora |

3. Answer any four of the following questions :
5x4=20

T AHERR R @I viRorR Ter o

(a) Discuss the basic economic problems
faced by an economy. 5

9 9ffee & T wfEARe  TemER
SIS 0 |

(b) Briefly explain the principle of

diminishing marginal rate of
substitution. What role does it play in
shaping indifference curves? 3+2=5

TP AfeeEe AR =4 ST 51t s
9| e @1 oo e 2 R osfier g

FCE?

(c) Distinguish between bar diagram and
histogram. 5

7ey fow e wECe1d 2N e 41 |
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(5)

(d) What is cross-elasticity of demand? How
do you infer about the nature of two
goods on the basis of cross-elasticity of
demand? 2+3=5

sve fofe Rfegere 7 s ol

ffegrmen e 15 wWR 243 e SoEm
31?2

(e) Explain how an income-consumption
curve of a consumer consuming two
products is derived. 5

751 TR Torsel T TEE! (& S~
Torelel (@41 v e << =8, T 940

() Explain the various factors responsible
for the shift in the demand curve of an

individual consumer. 5
FfERenm Sogerer oM @ ETERRe 9
ZfeR FRFER T 41|
4. Answer the following questions : 10x4=40
SO RS Ted e

(a) Discuss the scope of Economics. State
the basic assumptions of Economics.
6+4=10

wefA@eE Ao el 9 | ST
SR ot |
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(6)

Or / 2=
Critically discuss the marginal
productivity theory of labour. 10
A9 AfSF TeeAmERETel O] SAACAGAEGS M
HIFCRHE |

(b) Explain the behaviour of a profit

maximizing firm in the short-run. 10
T TS G S N iy
699 0 4T |

Or / &4

Distinguish between direct tax and
indirect tax. Show the impact of
imposition of a sales tax on market

equilibrium. 4+6=10

AT T T REMT FI9 AN o)1 TwmR
S S7q0 G $9 HIEIR 2SR (T4 |

fc) Explain how price effect of change in
price of a good can be decomposed into
income effect and substitution effect. 10

qb TR TR RS w7 Rore o s Reg
I gfisae Reee Bo1[ #R, 4 <41 |
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(7))

Or / 92<1

Show the trade-off between work and
leisure at different levels of wage rates.
Why is the labour supply curve backward
bending? 6+4=10

fifer TR /e W TR R @oRw
ﬁjemmmmmﬁwwﬁm

(d) Show that average cost is the
combination of average fixed cost and
average variable cost. Write a note on the
slope of the average variable cost curve.
Also explain the relationship between
average cost and average variable cost
curves. 4+3+3=10
CHel @ S TW T o B W AE T
ARETNE EE QA | TS ARSI
@4 T 84S @b Ol fordT | oS Iy S
5% ARGGANE I FIE FICGIS 1 1 |

Or / 9[1

Discuss the rationale behind regulation
of monopoly practices. What role do
antitrust  policies play in monopoly
regulation? 7+3=10
s T FEEl TR IREEer S
w1 Gofeon TR fRETe EHEESSIE]

o & Sl 7w ?
* % *k
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